R 6 ik #kBR (R 5) ‘AR 2 HERT FHERFES HERER

TR - AR - A0 ok HLAZ Kok i =
[EREYNGE - fo: 2 T
1. WSS

1) — HEf bR IE I A

— HLHARIE I R 20 1. 000
— HLRARIE R G - () 3 1. 000
— HRRARTE I B (L] B km 0. 200
— HLRUARTE A R (REWTI ) km 0. 200
— HLRUARIE A R (R I ) km 0. 200
—HLARE R (HE X5y - 2 O km 0. 200
B LA B (0 BR) ];ﬂf“ﬁ LOCRRBERE | 0. 200
Sk aﬁ% B, IR, | 0. 400

FH A v 1. 000
FHHU & (% DHRE) ha 0. 400
FH AR (3D B FERRER AR AY) ha 0. 400
JH M0 B CHER 8 e Bl A (4 470)) ha 0. 400
PR B (B2 AR ha 0. 400
M B (i F R D) ha 0. 400
JH 80 8 (P e 590 B st [ 4R ) ha 0. 400

W R B A
1. FEEE R
(1) FEEEE B

WEEEE B (AR R ZERS) 20 1. 000

it A B A AR B X 1.000

1/1




R 6 ik #kBR (R 5) ‘ARWAH 2 HERT FHERGES BERER

TAE - FHB - A Brg HAL & i #

EENEE (FBERZRS)

1. BEHEH

— HLHRARIE R EE
— HUME RRE E20 1. 000
—HURRARIE R ET (BB RHE, BIHFR A, #URRE) km 0. 200
— HLMARIE R BT (FE MR ) km 0. 200
— HLRARE R T (D) km 0. 200
— HURARIE R ET (B GRE R EAERL) ) km 0. 200
et v 1. 000
e REHED) EHAEFRTAYE [ 1.000
e REHED) T A [ 2. 000
FTEE5% REHED) RN RT & [ 1.000

(2) — &k s

PiERE - AR 1Rk v 1. 000
Al T S R & 1. 000
Z DA
1. T%HE

(1) FHE

T = 1. 000
T LG = 1. 000

1/1




